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Third Semester B.Sc. Degree Examination, March/April 2022

(CBCS)
PHYSICS
Paper - lll : Electricity and Magnetism
Time : 3 Hours Max. Marks : 70
PART - A
Answer any five of the following. Each question carries eight marks. (5x8=40)

1. a) What is meant by Ideal current source and practical current source ?

b) State and prove Thevenin's theorem. (2+6)

2. a) Define self inductance of a coil and give an expression for the energy stored
in an inductor.

b) Derive an expression for the decay of charge in a series CR circuit. Represent

graphically the variation of charge with time. (2+6)
3. a) What is a solenoid ?
b) Obtain an expression for the magnetic field at any point on the axis of a
(1+7)

solenoid carrying current.

4. Give the construction and theory of Helmholtz tangent galvanometer and obtain

an expression for the current through it. 8

5. Derive Maxwell’'s equations
— - -
) v.B=0and i VxE:-%. (4+4)
6. a) State Poyining theorem.
b) Obtain an expression for the velocity of an electromagnetic wave in a free

space. (2+6)
7. a) What is meant by resonance in an AC circuit ?
b) Obtain an expression for the current in an AC series CR circuit using
J-operator method and show that the current leads the voltage by a
(2+6)

factor ®.

-

P.T.O.
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8. a) State the laws of thermo electricity.
b) Show that the peltier coefficient is equal to the product of absolute tempel'ag"?-‘6 )
+

and thermo electric power.

PART - B
Solve any five of the following. Each problem carries four marks. (5%4=20)
9. For the following circuit calculate the value of R to transfer maximum power
and also calculate the maximum power.
40

80
A"
12VtT E 603 %RL

10. In an LR circuit the current attains 1/3¢ of its maximum value in 3 secopds.
Calculate the time constant of the circuit. If the value of resistance of a resistor
is 2Q2 calculate the value of inductor.

11. A solenoid of length 1.5 m and radius 2 cm has three layers of windings each of
1200 turns. If the current in the solenoid is 8A, calculate the value of magnetic

field intensity at the centre of the solenoid.

12. A moving coil galvanometer of length 10 cm and of width 6 cm having 12 turns
is suspended in a radial magnetic field of 3 x 1072T. If a current of 100pA is
passed through it calculate the angle through which the caoil is turned. Given :

couple per unit twist of the wire is 10 x10~* Nm/rad.

13. A rectangular coil of 100 turns and of area 0.008 m? is placed perpendicular to
a magnetic field of 0.02 T. Calculate the induced emf when the magnetic field

increases to 0.06 T in 0.05 sec.

14. The magnetic field of an electromagnetic wave is represented as B,=10x107
(300x + 10-'2%) tesla. Calculate the wavelength and frequency.

15. In an LCR circuit, an inductor of inductance L = 2mH, capacitor of capacitance
C = 10pF and a resistor of resistance R = 50 Q are connected in series with
an AC source of 220V. Calculate the resonant frequency and impedance at

resonance.
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16. The thermo emf of a thermo couple varies with the temperature of the hot

T7.

junction. Find the values of thermo electric constants ‘a’ and ‘b’ with the cold

junction at 0°C. The emfs generated are 100 pV and 1
) wV and 1000 nV at temperatures
30°C and 150°C respectively.

PART -C

Answer any five of the following. Each question carries two marks (5%2=10)

a) Sparking is observed in an electrical switch when an electrical appliance is
suddenly switched off. Justify.

b) Is the law of conservation of energy is violated due to the production of back
emf in LR circuit ? Explain.

c) Is Earth’s magnetic field effect the working of ballistic galvanometer ? Explain.

d) What happens to the radius of the circular path described by thg electron
when its speed is doubled in a transverse magnetic field ? Explain.

e) If the divergence of the vector field is zero, the field is said to be solenoidal.
Justify.
f) Is it possible to have a pure electric wave in space ? Explain.

g) A capacitor and a bulb are connected in series to an AC source. What
happens when the frequency is increased ? Explain.

h) Can a thermo couple be used to measure the temperature beyond inversion
temperature ? Explain.
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Third Semester B.Sc. Degree Examination, March/April 2022
(CBCS) (2016-17 Onwards)
COMPUTER SCIENCE - 1l
Database Management System and Software Engineering

Time : 3 Hours Max. Marks : 70

Instruction : Answer all Sections.

SECTION - A

I. Answer any ten questions. Each question carries 2 marks. (10x2=20)

1) Define Database.
2) What is weak entity ?
3) Explain data independence.
4) What is 2NF ?
5) What is DELETE Command ? Give syntax.
6) Mention different types of joins.
7) Write any two features of PL /SQL.
8) What are the characteristics of software ?
9) Write the advantages of waterfall model.

10) What is agility ?

11) Mention the golden rules of User interface design.

12) Define DFD.

SECTION-B
1. Answer any five questions. Each question carries 10 marks. (5x10=50)
13) a) Explain three schema architecture. 5
5

b) Write a note on database users.

P.T.O.
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14) a) Explain various types of attributes with example.

b) Explain any three fundamental operations in relational algebra with an
example.

15) a) What is SQL ? Explain DCL commands with example.

b) Define Relationship. Explain the various types of relationships
between entity sets with example.

16) a) Explain the basic structure of PLUSQL with an example.
b) Explain any 3 aggregate functions in SQL.

17) a) Write a note on developing the use cases.

b) Write the SQL queries for the following database. Consider the
student detail database has the table with the following attributes.

STUDENT (regno : int, name : string, dob : date, Marks : int)
i) Create the above table.

ii) Remove the existing attributes from the table.

iii) Change the data type of regno from int to string.

iv) Add a new attribute phoneno to the existing table.

v) Enter five tuples into the table.

18) a) Write a note on software application domains.
b) Explain spiral model.

19) a) Write a note on Cohesion.
b) Explain verification and validation.

20) a) What is software quality ? Explain different quality factors.
b) Explain different types of testing.

5
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Il Semester B.Sc. Degree Examination, March/April 2022
(CBCS Scheme)
Paper — lll : LIFE SCIENCE
Plant Anatomy and Physiology

Time : 3 Hours Max. Marks : 70
Instructions : 1) Answer all the questions.
2) Draw diagrams wherever necessary.
Explain any two of the following : (10x2=20)

1. Explain the classification of meristem based on their origin and position.
2. Explain the structure and development of cell wall.

3. Explain Nitrogen fixation.

4. What is respiration and explain the mechanism of respiration in plants.
Write explanatory notes on any five of the following : (5%6=30)
5. Secondary xylem in Gymnosperms.
6. Nature and function of p-protein.
7. Anomalous secondary growth in Boerhavia.
8. Ecological adaptations in mesophytes.
9. Role of NIF genes.
10. Gibberlins.

11. Glycolysis.

P.T.O.
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Write short notes on any five of the following :

12. SPAC concept
13. Tyloses

14. Lenticels

15. Vernalization
16. Photoperiodism

17. Leaf primordia

18. Strasburger cells.

D O
(5x4=20)
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Third Semester B.Sc. Degree Examination, March/April 2022

(CBCS Scheme)
BIOTECHNOLOGY
Biochemistry and Biophysics

Time : 3 Hours

Max. Marks : 70

Instruction : Draw a neat labelled diagram wherever necessary.

PART - |
(Bio-Chemistry)
SECTION - A
Write short notes on the following :
1 Disulphide bond.
2. Epimers.
3. Co-factors.
4. Phospholipids.
SECTION - B

Answer any two of the following.

5.
6.
7.

Distinguish between starch and glycogen.
Explain the classification of lipid.

Classify Enzyme.
SECTION-C

Answer any two of the following.

8.
9.

10.

Classify protein based on structure and shape.

Discuss the source and deficiency and disorder of the following :

1) Vitamin A
2) Vitamin D

3) Vitamin B12

4) Vitamin C.

Write short note on :

a) Structure of aliphatic amino acids and
b) Estrogen and Testosteron.

(4x2=8)

(2x6=12)

(2x10=20)

P.T.O.
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SECTION -D
Answer the following. (5x1=5)
11 Write the chemical name of Vitamin E.
12. Expand FAD.
13. Essential fatty acid.
14. Optimum pH.
15. What is Glycosidic bond ?

PART -l
(Bio-Physics)

SECTION - A

Answer any two of the following : (2%x5=10)
16. Explain the mechanism of buffer action of basic buffers.

17. Give an account on principle and applications of TLC.

18. Explain the detection of radioactivity by scintillation counter.

SECTION -B
Answer any one of the following : (1x10=10)

19. Explain the principle and mechanism involved in x-ray crystallography. Add a note
on its application.

20. Write a note on :
a) Preparative centrifugation
b) Applications of Biophysics.

SECTION -C

Answer the following : (5%x1=5)

21. Write 2 application of NMR spectroscopy.
22. Define standard free energy.

23. Expand HPLC.
24. What is the unit of measurement of radioactivity ?

25. pH of saliva is
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Il Semester B.Sc. Examination, March/April 2022
(CBCS) (2015 — 16 and Onwards)
ELECTRONICS - 1II
Linear Integrated Circuits and C-Programming
Time : 3 Hours Max. Marks : 70

Instructions : 1) Answer all the questions from Part — ‘A’ any five
questions from Part — ‘B’ and four questions from
Part - ‘C’.
2) Itis required to answer all the questions of Part — ‘A’ in
any one page and to be answered only once. In this
Part answering the same question multiple times will
not be considered for valuation.

PART - A

1. Answer all the sub-divisions (Multiple Choice Questions) : (15x1=15)

i) In a monolithic IC’'s components are fabricated by process.
a) Evaporation b) Sputtering c) Diffusion d) Oxidisation

i) The ideal value of Slew rate in an op-amp is
a) 0 b) infinity
c) 0V d) very high value
i) What happens due to mismatch between two terminals of an op-amp ?
a) Input offset voltage b) Output offset voltage
¢) Both a) and b) d) None of the above

iv) Common mode voltage gain of an ideal op-amp is

a) >1 b) =1} c) <1 d =0
v) A band pass filter has

a) Two stop bands and one pass band

b) One stop band and two stop bands

c) One stop band and one pass band

d) Only pass band
P.T.O.
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vi) High-pass filter will
a) Pass high frequencies b) Pass low frequencies
¢) Pass DC signal d) None of the above
vii) The purpose of a Comparator is to
a) Amplify input voltage
b) Detect the occurrence of changing input voltage
c) Compare two input voltages
d) Maintain constant output when the DC input voltage changes

viii) The range of values of an un-signed integer variable is

a) —32767 to + 32768 b) 0-65535
c) 0- 65536 d) 1-65536
ix) A mono stable multivibrator has
a) No stable state b) One stable state
c) Two stable state d) None of the above

x) Which of the following are tokens in C language ?
a) Keywords b) Variables c) Constants d) All of the above

xi) Let a =1 c =5, then the expression b = (a++)+(— — c) evaluates as

a) b=6 B b=5 ¢c) b=7 d) 4
xii) Which of the following is not a decision making statement ?
a) while b) if-else
c) switch-case d) nested if-else
xiii) The exit () function terminates the execution of
a) Program b) Loop
c) Current statement d) Stack
xiv) A structure in C-language means
a) Pre defined data type b) Function
¢) User-defined data type d) None of the above

xv) A structure contains
a) Arrays of individual members
b) Individual structures as its elements
¢) Structure variables
d) Structure members
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PART - B
Answer any five questions : (5%7=35)
2. a) Mention advantages and disadvantages of IC’s.
b) Draw and explain the block diagram of an op-amp. (245)

3. a) Mention the different op-amp IC’s.

b) With the circuit diagram, obtain an expression for the voltage gain of a
non-inverting amplifier. . (2+5)

4, With a circuit diagram, explain the working of Wien Bridge Oscillator. Write the
expression for frequency of oscillations. 7

5. a) Draw the circuit diagram of a small signal half wave rectifier.

b) Explain the working of an Astable multivibrator with a circuit diagram. Draw

relevant waveforms. (245)
6. Explain the following operators in C with an example.
a) Arithmetic operators
b) Relational operators
c) Assignment operators. 4
7. a) Explain the switch statement with an example.
b) Explain the working for loop with an example. (3+4)
8. a) Distinguish between While and Do-While Statements with an example.
b) Write down the syntax to access array elements. (5+2)
7

9. What is a Union ? How to access the individual members of a union ?
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PART-C
Answer any four questions : (4x5=20)

10. Desugn an inverting adder circuit using op-amp to satisfy the equation.
- (B, + 2V, + 12V,). Given R_= 240KQ. S

11. Design a high pass filter, with cut-off frequency of 10 KHz with a pass band
gain of 4. Given R_ = 10 KQ and C = 0.1yF. S

12. Draw an astable multivibrator, with R, = 1KQ, R, = 100 KQ and C = 0.01pF.
Calculate the T_, T_, and frequency of Oscillations.

13. Write a C program to find minimum and maximum of N numbers.

14. Write a C program to generate prime numbers up to an integer N.

a O o O;

15. Write a C program to calculate factorial of a given number.
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Third Semester B.Sc. Degree Examination, March/April 2022
(CBCS Scheme)
Paper - lll : CHEMISTRY

Time : 3 Hours Max. Marks : 70
Instructions : 1) The question paper has two Parts. Answer both the
Parts.
2) Write diagrams and Chemical equations wherever
necessary.

PART - A

Answer any eight of the following questions. Each question carries two marks. (8x2=16)

® N oA WD

-t b ok
N = o ©

Write any two limitations of collision theory.

Define heat capacity at constant pressure and constant volume.
How is Teflon prepared ?

What is an adsorption isotherm ?

Write the structure of diborane.

Explain esterification reaction with an example.

What are epoxides ? Give an example.

Write any two functions of nitrogen as an essential plant nutrient.
What are Ellingham’s diagrams ? How are they useful in metallurgy ?
Why Phenols are more acidic than alcohols ?

How is methyl-lithium converted into ethanoic acid ?

Explain auto-oxidation reaction in ethers.

PART - B

Answer any nine of the following questions. Each question carries six marks.  (9x6=54)

13.

14.

a) Derive an expression for the rate constant of a second order reaction when
a=b.
b) How is the order of a reaction determined by half-life period method ?  (4+2)

a) Explain the determination of rate constant of the reaction between potassium
persulphate and potassium iodide by spectroscopic method.

b) Define half-life period of a reaction. (4+2)

P.T.O.
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15. a) Derive Vant-Hoff's reaction isochore.

16.

&

18.

19.

20.

21.

o

23.

24.

b) State Il law of thermodynamics. (4+2)

a) Derive an expression for the workdone during reversible isothermal expansion
of an ideal gas.
b) Calculate the efficiency of heat engine working between 350°C and 250°C. (4+2)

a) Derive Kirchoff's equation.
b) The equilibrium constant for a reaction is 1.5x10° at 300 k. Calculate the
standard free energy change for the reaction at 300 k.

[R=8.314 JK' mol™] (4+2)

a) Explain the mechanism of “Intermediate compound formation theory” of
catalysis.

b) What is an adsorption indicator ? Give an example. (4+2)
a) Describe the extraction of Uranium from pitch blende.

b) Explain the refining of Nickel by Mond'’s process. (4+2)
a) Explain the classification of monohydric alcohols with an example for each.

b) How is ethyl mercaptan prepared from ethyl alcohol ? (4+2)
a) Explain the mechanism of Reimer-Tiemann reaction.

b) How is phenol converted to methyl salicylate ? (4+2)

a) What is Lucas reagent ? How is it used to distinguish between 1°, 2° and 3°
alcohols ? Give equations.

b) Explain Pinacol-Pinacolone rearrangement with an example. (4+2)
a) How are ethers prepared from

i) alcohols if) primary alkyl halides ?
b) Write a reaction to show that ethers act as Lewis bases. (4+2)

a) Explain the preparation of the following polymers with equations.
i) Poly-vinyl chloride
i) Phenol-formaldehyde resin.

b) Write any two differences between organic and inorganic polymers. (4+2)

a) Explain the manufacture of Urea. Mention its uses.

b) How are fertilizers classified ? Give an example for each. (4+2)
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Third Semester B.Sc. Examination, March/April 2022
(CBCS) (F+R) (2015 — 2016 and Onwards)
ELECTRONICS —1li
Linear IC’s and C Programming

Time : 3 Hours Max. Marks : 70

Instructions : i) Answer all the questions from Part—A, any five questions
from Part — B, any four questions from Part — C.

i) Answer all questions from Part — A in any one page,

same questions answered multiple times will not be

considered for evaluation.

PART - A

Answer all the sub-divisions. (15x1=15)

1. i) 1000 — 10000 transistors are fabricated on a chip. It belongs to
a) SSi b) MSI c) LSI d) VLSI

ii) The ‘slew rate’ of an operational amplifier indicates
a) how fast its output impedance can change
b) how fast its output power can change
c¢) how fast its output voltage can change
d) none of the above

i) The op-amp with higher CMRR ensures
a) higher value of common mode gain
b) greater immunity to noise
c) lower value of common mode gain
d) both (b) and (c)

iv) A non-inverting closed-loop op-amp circuit generally has a gain factor of

a) less than one
b) greater than or equal to one

Cc) zero
d) none of the above

P.T.O.
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v) High pass filter allows signals.

a) low frequency b) high frequency

c) dc signal d) both (a) and (b)
vi) In RC phase shift oscillators feedback factor B is

a) 3 b) 1/3 c) 1/29 d) 29
vii) In IC555 timer, pin number 5 is terminal.

a) control voltage b) threshold

c) reset d) trigger

viii) Which of the following is not valid variable name declaration ?
a) int_area 1; b) int area_1; ¢) int 1_area; d) int_1area;

iX) ______is adirective.
a) include b) int c) for d) constant

X) The valid range of numbers for int data type is

a) 0to 256 b) -32, 768 to +32,768

c) —128 to +127 d) —65, 536 to + 65,536
xi) Type casting is a method of type conversion.

a) Explicit b) Implicit

c) Operator precedence d) Format specifier
xii) Which keyword is used to come out of a loop only for that iteration ?

a) break b) continue C) return d) none of the above
xiii) Bitwise operators can operate upon

a) double and chars b) floats and doubles

c) ints and floats d) ints and chars

xiv) The getchar( ) and putchar( ) functions belong to header file.
a) stdio.h b) conio.h c) string.h d) ctype.h

xv) The number of values that can be stored in a union at a time
a) only a single value b) two values
c¢) any number of values d) three values
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PART - B

Answer any five questions. (5%7=35)

2.

a) Mention any four characteristics of ideal op-amp.

b) Draw the functional block diagram of op-amp and explain the function of
each block.

a) Obtain the expression for the voltage gain of op-amp inverting amplifier.

b) Define CMRR and slew rate with respect to op-amp.

a) What is differentiator ? Draw the circuit diagram of op-amp differentiator.

b) Draw the circuit diagram of op-amp comparator and sketch the output for
sinusoidal input.

a) Mention the types of multivibrator and draw the functional block diagram of
IC-555.

b) Draw the circuit diagram of astable multivibrator using 555 timer. Write the
expression for frequency oscillator.

a) Sketch the frequency curve for band pass and band reject filters.

b) Draw the circuit diagram of phase-shift oscillator and explain its working.

Explain the following operators in C with examples.

a) Logical operator

b) Relational operator

c) Assignment operator

d) Conditional operator.

a) Define variable. List the rules of variables.

b) Whatisarray? Explain the method of accessing elements inatwo dimensional

array in C with an example.
Explain structure in C programming. Write the syntax to define it. Give an
example.

20
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PART - C

Answer any four questions. (4x5=20)

10. Design and draw an inverting adder using op-amp to get the output expression
asV_=—(1V +2V, +4V,). Assume R = 10 KQ.

11. Design a first order op-amp low pass filter for the cut off frequency of 1 KHz
with a pass band gain of 11. Choose C = 0.02 uF and R, = 20 k.

12. Find the value of Y and i in each case if initially i = 20.
)Y =4+ (i++),
i) Y =4+ (++i);
i) Y =(++i) + 4;

13. Write a C program to calculate factorial of a given number.
14. Write a C program to find sum of two matrices of order M x N.
15. Write a C program to generate GCD of two numbers.

21
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lll Semester B.Sc. Examination, March/April 2022
(CBCS — Repeaters) (2015-16 and Onwards)
GENETICS - lll
Cytogenetics

Time : 3 Hours Max. Marks : 70

Instructions : 1) Answers should be written completely in English.
2) Draw diagrams wherever necessary.

PART - A

Answer any five of the following : (5%x3=15)
1) Define karyotype.

2) Write short notes on secondary constrictions.

3) Mention any three characteristics of cytoplasmic inheritance.

4) Define linkage group. Give an example.

5) What is monosomy ? Give an example.

6) Write a note on ‘Trisomy’.
7) Mention the evolutionary significances of chromosomal aberrations.

PART -B

Answer any five of the following : (5%x5=25)

1) Comment on ‘Heterochromatin’.

2) Explain the structure of Polytene chromosome.
3) Describe the inheritance of chloroplast DNA.
4) Explain sex linkage in Drosophila.

5) Explain the factors affecting linkage.

6) Describe incomplete linkage with an example.

7) Write a note on ‘Inversions’.

P.T.O.
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PART - C

lll. Answer any two of the following : (2x10=20)
1) Describe the ultrastructure of chromosome with the neat labelled diagram.
2) Explain the pattern of inheritance of sigma factors in Drosophila.

3) What is crossing over ? With reference to mechanism of crossing over,
explain any two theories.

4) What is polyploidy ? Explain its types with examples.

PART-D

IV. Answer any one of the following : (1x10=10)
1) Give an account on Bridge’s theory of non-disjunction.
2) Explain:
a) Interference and coincidence.
b) Types of crossing over.

23
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Il Semester B.Sc. Examination, March/April 2022
(CBCS Scheme)
MATHEMATICS (Paper - Ill)

Time : 3 Hours Max. Marks : 70
Instruction : Answer all questions.
PART - A
1. Answer any five questions : (5%2=10)

a) Find the number of generators of the cyclic group of order 10.
b) Define cyclic group.
c) Test the nature of the sequence {\/n +1 —-\/ﬁ} i

d) Examine the convergence of the series 1- -;— + —;- - % fm——— tocw.

e) State Cauchy'’s root test for the series of positive terms.
f) Verify Lagrange’s mean value theorem for the function f(x) = x2 = 3x + 2 in
-2, 3].
g) State the Rolle’s theorem.
h) Evaluate lim xlogx.
PART - B

Answer one full question : (1x15=15)

2. a) If ais any element of the group G, is of order n, then prove that
am = e, for any integer m, if and only if n divides m.
b) If a is a generator of a cyclic group G, then prove that O(a) = O(G).
¢) Find all the left and right cosets of the subgroup H = {0, 4, 8}in (Z,, +,,)-
OR

3. a) Prove that any two right (left) cosets of a subgroup H of a group G are either
disjoint or identical.

b) In a group G, prove that O(a) = O(@") VvaceG.
c) State and prove Lagrange’s theorem on groups.

P.T.O.
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PART - C
Answer two full questions : (2x15=30)

N-»m

4. a) If lim a,=aand lim b_=bthen prove that lim (a +b)=a+b.
n s N-—»o n n
b) Prove that every convergent sequence has a unique limit.
c) Examine the convergence of the sequence :

o {37}

(

log(n+1)-logn

i) 3

sin—
L n
OR
5. a) Prove that a monotonically increasing sequence which is bounded above is
convergent.
b) Show that the sequence {a } where a_ = L+ : +...+L is
convergent. n+1 n+2 n+n

c) Examine the convergence of the sequence :

i {JE(\E+3-Jn+2)}

i {n+(—1)“}

n
6. a) State and prove Raabe’s test for the series of positive terms.

b) Examine the convergence of the series
1 3 5

- . v
123 234 345

c) Sum to infinity the series

2,25 288
6 612 6.12.18

OR
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7. a) State and prove D'Alembert’s ratio test for the series of positive terms.
b) Examine the convergence of the series
n\"
2]
¢) Sum to infinity the series

12 22 32
ﬁ+—-+——+...

PART - D

Answer any one full question : (1x15=15)

8. a) Examine the differentiability of the function

2

f)=4 X X3 g3
6Xx—-9 ifx>3

b) State and prove Lagrange’s mean value theorem.

. (1 1
c) Evaluate lim (—2—— ]
x>0 x°  x.tanx

OR
9. a) State and prove Cauchy’s mean value theorem.

b) Obtain the Maclaurin’s expansion of log(1 + x) upto the term containing x*.

lim (Sin x)iﬂnx

X—>s
2

c) Evaluate
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CULTURE, DIVERSITY AND SOCIETY 5

Time Allowed : 3 Hours Maximum Marks : 70

INSTRUCTIONS TO CANDIDATES
1. Immediately after the commencement of the Examination, you should check that this
Booklet does not have any unprinted or torn or missing pages or items, etc. If any
of the above defects is found, get it replaced by a Complete Question Booklet of the
available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and
affix Signature on the OMR sheet. As the answer sheets are designed to suit the
Optical Mark Reader (OMR) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 55 questions, Part — A contains 40 questions of one mark
each. Part — B contains 15 questions of two marks each. All questions must be
attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.

Heomt : RRtddriv 0 @ oag ot 8 QUG Gotmna®, SO IVS.
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PART — A
W -

Note : Answer all the questions. Each question carries one mark. (1x40=40)
238 : SR, T I NV LB, [,3 BI 7 1o €508.

1. The Namboodari joint family is called as

a) Tarawad b) Khasi c) Gharo d) lllom

S0WREO BRYT BoLLOWBIY 200D 3B0HTNG.

a) 3T b) a5 c) modre d) aeo
2. Article of the Indian Constitution abolishes the practice of untouchability.

a) 171 b) 24t c) 151 d) 32nd

LRCE RONGIIT QD B B,B0D 523TROPY, ARQRTT.

a) 173¢ b) 243¢ c) 153¢ d) 3233¢
3. The Untouchability Offence Act was passed in the year

a) 1955 b) 1976 c) 1985 d) 1947

R 05533 €30GS TOOWTS 2IDOCINT JRF

a) 1955 b) 1976 c) 1985 d) 1947
4. Globalization has reduced the barriers between

a) States b) Districts c) Countries d) Cities

PNEeTTEIR) SENT VBRHNTIY RN SRRV,

a) oo, nY b) 2gne c) tﬁ)"w;ﬁf‘é d) Inond
5. The oldest Veda is

a) Yajurveda b) Rigveda

c) Atharvanaveda d) Samaveda

53,03 3,136 BT

a) odoser s b) abried

C) eprsed d) mROReT

SPACE FOR ROUGH WORK

28



N O

QP - 539 4-
language group.

6. Kannada Language belongsto
b) Sino-Tibetian

a) Dravidian
c) Aryan d) Indo-European
sR@welad R :sm:mg 3003,
a) 3,3 b) #dme-tedudodoa’
C) wadbF d) odme-od0deLodT
8 is the original name of Buddha.

a) Shankara b) Mahaveera c¢) Siddhartha d) Basava
wzréﬁ e IBID
a) Zoso b) SoToDeT C) AT d) wxs

8. Family is the agency of
a) Media b) Socialization c) Urbanization  d) Industry
BOLLOWRY) T Ao3eNodRNG.
a) Sg > b) mo@Reesses c) Snoe¥TEd d) q,mos

9. Islam religion propagates
a) Atheism b) Fetishism
c) Polytheism d) Monotheism
B0 FROFR) B, T, 3OIT.
a) TATT b) &8 300
C) WRLTETZTDT d) LFTeTZToTT

10. Geographically Indiaisthe _______largest country in the world.
a) 2" b) 7*" c) 5t d) 4th
Preevsmon RUSH) wnds Go% TR,
a) 2:3¢ b) 73e c) 53¢ d) 43¢

SPACE FOR ROUGH WORK
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11. is an achieved status.
a) Gender b) Caste c) Class d) Religion
_ WOTD WO Lo3 NG,
a) don b) =3 c) INF d) gaor
12. ‘Monoculturalism’ is the practice of preserving
a) Rural Culture b) National Culture
c¢) Urban Culture d) Tribal Culture
‘08 303, 3TT'Y) SUTBODT), dtmgd.
a) me,s To%,3 b) Togeodd Xo%yd
c) 30 Zo%, 3 d) womsed ¥ox,3
13. is called as the ‘Jainakashi’ of Karnataka.
a) Moodabidari b) Dharmasthala
c) Chikkamagaluru d) Udupi
5T, FTOFLITT ‘o 3Fd’ Homd 330 eNS.
a) SRBEWET b) FRoFIY
C) wWBONTRW d) @&
14. The Chairman of Drafting Committee of the Indian Constitution
a) Nehru b) Gandhiji c) Tilak d) Ambedkar
25002 ToDGRRE FORD B0S0D &5
a) 33dn b) mode c) 30w d) eozﬂedﬁc‘
15. In which Olympic game did Neeraj Chopra win gold medal ?
a) Swimming b) Badminton c) Football d) Javelin throw
Deoes ez, 0=0n uOo&fﬁQama 8, edn WY T T Z3R80 ?
a) s b) wm, Qo c) P RO d) 30 33

SPACE FOR ROUGH WORK
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16. Which State has the highest sex ratio in India 7 d) Haryana
a) Kerala b) Karnataka c) Delhi
QRS Tots, ) 3 03 T, DOMORTITTIY BRoDT 7 d) Bocin
a) $eov b) Smortis c) B®O

17. Basadi is the worshipping place of d) Sikhs
a) Buddhists b) Parsees c) Jains
WRONLD 3 TN, FHTONT.

® d) assf

a) P b) oxF c) %3

18. The expansion of TRP
a) Television Rating Point
c) Tension Relief Point
TRPo® % 8 dew
a) EIODTI® TeeIont TooW0E3*
C) BRI 0O TooW0E*

b) Travel Rating Point
d) Transport Rating Point

b) &3,3e° Teedorv seplevelel iy
d) &32,5° Bpees®F Tetdorv 000k

19. gave the concept of ‘Mc-Donaldization’.

a) Auguste Comte b) M. N. Srinivas
c) Emile Durkheim d) George Ritzer

‘B, 5 - Berod) e’ FOTOFODR), e

a) ©nxt 5oR), b) 0. 2FF. 8 e’
C) O BDeF0 d) =ow's 0o

20. The highest mountain peak in the World
a) Nanda Devi b) Mount Everest
c) Kanchana Junga d) Gowri Shankara
unST ©8 HTUB TIFT 500
a) Joweriew b) &Poez axSxs
C) B0 wOoTw d) 0 Zosg i

SPACE FOR ROUGH WORK
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21. The ‘Fourth Pillar’ of Democracy is

a) Executive b) Mass Media c¢) Judiciary d) Legislative

T, 090, 13T TOOEe Gs Ford'

a) sadRFon b) IZoT INFI  €) Ty0IRonN d) moxson
22, How many languages are officially recognised in the 8" Schedule of the Indian

Constitution ?

a) 15 b) 18 c) 22 d) 12

R0 ORI B3¢ m—%eme; SESRAREERSECIAL S DOTI TN, WRBWOONT ?

a) 15 b) 18 c) 22 d) 12
23. The word ‘Family’ is derived from the Latin word

a) Famulus b) Femila c) Feminine d) Femili

"R, 00" QoW TAF) Ty T LIOROI TTOOT WORT.

a) R, 0% b) Fowe c) F0F,* d) 0D
24. The place that receives the highest rainfall in India

a) Agumbe b) Darjeeling c¢) Udupi d) Mawsynram

RTSHEY 168 T3, T[OF Wesbas IY

a) ol b) wmoFoOor C) YRR d) SPaT*oo*
5. The eldest male member of the Hindu Joint Family is called as

a) Hiriya b) Kartha c) Jeshta d) Anuja

50T BSIT BIDOWT ai»a:)cs‘h;aagt QOT BBOLONT.

a) &dod b) s3oF 6) tﬂea'% d) ©xo%
26. COVID-19isa

a) Virus b) Bacteria

c)aandb d) None of the above

COVID - 19 2.0t

a) #ox b) wo,8¢0035%

c) addBDb d) S0edT CIRRT B,

SPACE FOR ROUGH WORK
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27. Which is the national game of India " ; d) Football
a) Kabaddi b) Cricket c) Hockey
LRUBT Toeadd 8 e a3nRFHD ?
o d) P W
a) 83, b) 88t ) B9
28. The holy book of Buddhism is Granth Sahi
a) Bible b) Tripitaka c) Quran SR S
PG FRFT IR, 71,05 ;
a) Buot b) 8838 ¢) BT d) 1,03 ToTewr
29. The ‘Dominant Caste’ concept was given by

31.

a) G. S. Ghurye b) M. N. Srinivas

c) Iravati Karve d) D. P. Mukherji

‘T,W0 W8’ aaﬁgﬁobaoq QeBTTTO

a) 23. . PO, b) 0. . 8,eX°

C) QATBS BI¢F d) 8. &. 0D

Article 24 of the Indian Constitution is related to

a) Migrant Labours b) Contract Labours

c) Child Labours d) Bonded Labours

PO0Z FONTOTT 24T PO i FOLODAT.

a) TR FoFTTD b) 230 0TI FIOFFTD

C) LTOO ToF TR d) WoR3 FoFTI

Sudha Murthy was conferred ‘Padmashri’ award for her service in which field ?
a) Sports b) Education c) Literature d) Social Work
o anineink Tafevernialaevipin ii €3,3¢) ZOAT Redron ‘ac@)e’ T3} BRI ?

a) 8¢ b) &8s C) Tk, d) e Bes

SPACE FOR ROUGH WORK
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32. Mahatma Gandhiji called the tribals of India as

33.

a) Kaadu Jana b) Hirijana c) Girijana d) Harijana
SOTOTY MO CADT 27003 LOBELD WTONNY, wOT3 FETDD.
a) B %I b) &ous3 c) Nows d) oI

The name ‘India’ is derived from the river

a) Ganga b) Sindhu c) Kaveri d) Brahmaputra
TRTS QOW IJID SOO0T 2000,
a) nome b) xogie c) 5oa3ed d) wII3,

. World Environment Day
a) June 05 b) March 22 c) September 05 d) October 02
&)5:: TOXT O
a) =RJ* 05 b) Zmes 22 ¢) Aowo 05 d) egpeeo’ 02

Name the women from Karnataka who was awarded ‘Padmashri’ for
Environmental Protection.

a) P. V. Sindhu b) Tara Anuradha

c) Salu Marada Timmakka d) Jayanthi

TORT BOTFFHMON ‘T, 58,¢’ TBY VAT TToF 3B okt kR 2

a) &. . AR b) oo T

c) T HoT ea%zg d) mood

Who gave the concept of Tribal Panchasheela ?

a) Tilak b) Ambedkar c) Gandhiji d) Nehru
S0TA Tor3bew TOFOFODT) IR VBT ?

a) dor’ b) uoz:!cc%c‘ c) mode d) 3z

SPACE FOR ROUGH WORK
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37. Western Ghats are also knownas

in Karnataka.

—_—

a) Mahendragiri  b) Sahyadri c) Vanashri o) Flibadt

BT, VYT PUvy, _ ogh ged0T0-

a) SoBeow,NO b) X0, c) #38¢ d) &ERg
38. The Child Labour (Prohibition and Regulation) Act was passed in the year

a) 1992 b) 1955 c) 1975 d) 1986

IO BOFT (Jaders T Wod03, ) 52030050 R RCTINT DR

a) 1992 b) 1955 c) 1975 ) e
39. Which National festival is celebrated at Rajpat Delhi ?

a) Gandhi Jayanti b) Independence Day

c) Republic Day d) Teacher's Day

BBOOD COW TP, o3RI Uaa&eoda wuwassi SWOROTIT ?

a) mood oo b) mZ03, DTS

C) NeovoRn, e3 d) S8FT DIITH
40. The Thar desert is located in State of India.

a) Punjab b) Rajasthan

c) Guijarat d) Madhya Pradesh

POT* OTAR LTS oo, B,

a) Toegow* b) Obzsxm@a*

C) Mozt d) mﬁs T, ez

SPACE FOR ROUGH Work
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PART - B
e - W

Note : Answer all the questions. Each question carries two marks. (2x15=30)
AU 1 SR T IR ev3on. |3 BB T e508RLD.

41.

42,

Match the following :
A B

1. Kailash Satyarthi A. Indian Environmentalist
2. Tulasi Gowda B. Female Education
3. Malala Yousaf C. Folk Dance
4. Manjamma Jogati D. Child Labour
Codes :
a) 1-D 2-C 3-A 4-B
b) 1-A 2-B 3-C 4-D
c) 1-C 2-D 3-A 4-B
d 1-D 2-A 3-B 4-C
TRODY W3O :
A B
1. §0° B2, QF A. 1030 TOTTTO
2. DY "B B. & éira
3. DO RIT* C. 353 33,
4, a:bouﬁi Brend D. 2300 ®QF3
Xode3nsh :
aj 1-D 2-C 3-A 4-B
b) 1-A 2-B 3-C 4-D
¢c) 1-C 2-D 3-A 4-B
d 1-D 2-A 3-B 4-C
‘Soliga’ Tribes are found in State.
a) Tamil Nadu b) Kerala c) Karnataka d) Orissa
Aoednt’ 1B wEOND) 002, B FoROWTTT.
a) o b) deoy C) FooF g d) wom

SPACE FOR ROUGH WORK
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43. The two Backward Classes Commission of India

a) Kalelkar Commission and Mandal Commissio'n

b) Mandal Commission and Havanoor Commission Commission
¢) Nagana Gowda Commission and Chinnappa Redqy ion

d) Nanjundaswamy Commission and Kalelkar Commissio

IRTUBT TR LoBRT ey esodpennsd

a) isaﬁwac‘ sadnen BB Doomer esodpen

b) voBe* sadpen DD TowIeD eodeen

C) SOMIRE sodpert ) W TSR eodeer

d) aomocmgaa: sadeen BB aaejwﬁc‘ e3030en

is the present Chairperson of Karnataka Commission for women.

a) Rekha Sharma b) Smrii Irani
c¢) Pramila Naidu d) Shyamala
FIOFWE Oo%, Wvo Bodrens SN P TP
a) Bea IXF b) 3 ,& |0
C) ,Q0eem Spleveby d) 930w
45. The two sects of Islam
a) Hinayana and Mahayana b) Shia and Sunni
c) Swethambara and Digambara d) Catholics and Protestant
QR0 FROFT TR ToFNEHL
a) &eIadng SO TR b) da3» RO m;g{
C) 3ezo0wd B Hriowd d) 2,Greds* DNy @@@3:\,;0&3'
46. The two dominant castes of Karnataka are
a) Vokkaliga and Lingayat b) Brahmin ang Lingayat
¢) Reddy and Kamma d) Vokkaliga ang Brahmin
FIOF LIS QO T, SN
a) wEOn DB oo b) e, 6o 2 Gormatre
c) dq; d)&_? Uﬁ)i d) g\,%@” m!g 235%5‘3

SPACE FOR ROUGH WoORK
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47. Summer season in India ig between
a) December to February
c) June to September
ROIIQ et mogy
a) aowo'Aos 0,30 -
C) RAT'RT I oro*

13-

QP - 539

; i, MOTHDS:

b) March to May

d) October to November

_ donsbnv Sabd sorowtZ.
b) fnwr'rlon e

d) ©8newo'Ron @t

48. BO‘::-_ Magazines, Newspapers are the examplesof ___ media.
a) Print b) Electronic c) Outdoor d) Social
DI, LOLITOIND, I dristy SnG, 08 SUTOBTHIRNGS.
a) [, b) dx,m= c) Rrooores d) mowmele

49. Match the following :

A
1. Bharatanatyam A. Puﬁjab
2. Yal.cshagana B. Orissa
3. Odissi C. Tamil Nadu
4. Bhangra D. Karnataka
Codes :
a) 1-A 2-B 3-C 4-D
b) 1-C 2-D 3-A 4-B
c) 1-C 2-D 3-B 4-A
d 1-B 2-A 3-D 4-C
BROOX WD :
A B
1. o3sou, 0 A. Jomw’
2. obBm B. wom,
3. wax C. 3xxbmad
4. woon, D. sofFig
Xoge3rieh :
a) 1-A 2-B 3-C 4-D
b) 1-C 2-D 3-A 4-B
¢c) 1-C 2-D 3-B 4-A
~ d 1-B 2-A 3-D 4-C

38
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50. Radcliff line demarcates

1.

a) India and China
¢) India and Pakistan

o, @ g nadeadoln

a) PoUS X YT
C) YU TR TodI

Match the following :
A
1. Buddhism
2. Sikkism
3. Jainism
4. Islam
Codes :
a 1-A
b) 1-C
c) 1-B
d 1-C
TROO WBOWD :
A
1. za‘acé PF
2. A PIOF
3. ¥S goF
4. TR0 PROF
XodeInied
a 1-A
b) 1-C
c) 1-B
d 1-C

OO mO

DD NN
I

OO woO

NN
I

W w ww
I
@ >» O O

W www
[ .
@ >» 0 O

Iy

14-

s b) India and Sri |_a‘nka
ia and Nepa
d) India an
. ) sy, SWRRZC-
IN®

—
d) 003 B FTF

B
A. Prophet Mohammad
B. Mahaveera
C. Gautama Buddha
D. Guru Nanak

T O NN
I
> 0O >» @

Tl BRBIT®
BOToReT

nogad wc;a
nTTE®

OO0 wm>»

F O N NN
(|
> 0O >» @

SPACE FOR ROUGH WORK
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52.

33.

55.
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Ethnocentrism may lead to

a) Xenophobia b) Hydrophobia

©) Euphobia d) Caste Phobia

QTR EFOL I (Bo08e00, 3703 | i o0 SReEAEIT.

a) tsa:s NI ed b) mo ped

C) T3 Zodes wes d) 2p8 ped

Kasaragodu border dispute is between and States.
a) Maharashtra, Karnataka b) Kerala, Karnataka

¢) Tamil Nadu, Karnataka d) Telangana, Karnataka
FONONRRRD NAB AHT) =R oo, nen JowodAT.
a) mmma; TIOF LT b) #¢0%, sSoreds

C) SWOTOW, BTorF s d) 3ooroed, FToF LT

Which Article of the Indian Constitution provides provision for the development
of North Karnataka ?

a) 371 (J) b) 24 c) 280 d) 32
IO0E JONTORT 03 edbz{;d@ QST FIoF WIT wz;ﬁs:id{%ﬁ BRT,Z (T ?
a) 371 (%) b) 24 c) 280 d) 32

The ‘Karnataka Ratna’ 2021 awarder who passed away recently

a) Chiranjeevi Sarja b) Punith Rajkumar

c¢) Senior Actor Shivaram d) Sanchari Vijay
pdedR DERoOT @one 20213 WOT 'FTOFLE 0 TN HRITIEIL
Y b) JQeT* Tow BORNT® %

a) 1300 RWF

c) bod Tk dWT0 d) Xowpd Jwod*

SPACE FOR ROUGH WORK
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Il Semester B.A/B.Sc. Examination, March/April 2022
(CBCS) (2015 - 16 and Onwards)
(Semester Scheme) (Repeaters)

MATHEMATICS (Paper ~ Il

Time : 3 Hours Max. Marks : 70
Instruction : Answer all questions.

PART - A

1. Answer any five questions. (5%2=10)

a) Write the order of each element of the multiplicative group G = {1,~1,i,-i}.

b) Prove that every cyclic group is abelian.

c) Prove that the sequence {Sn
4n +

}converges to E
3 4

d) Test the convergence of the series 1 ——;- - % ~ % T

e) State Cauchy’s mean value theorem.
f) Verify Lagrange’s mean value theorem for the function f(x) = x2 in [2,4].

X - sinx
g) Evaluate ',if.". X
h) Prove that every differentiable function is a continuous function.
PART -B
Answer any one question, (1x15=15)

2. a) Inagroup G, prove that O(a)=O(a™").
b) State and prove Fermat's theorem in groups.

c) Prove that every group of order less than or equal to 5 is abelian.
OR

P.T.O.
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3. a) Inagroup G, if O(a)=n Vae G and d = gcd(n,m) then prove that O(a"‘)=ﬂ.

b) Prove that any two right cosets of a subgroup H of a group G are either
disjoint or identical.

c) State and prove Lagrange's theorem in groups.

PART -C
Answer any two questions. (2x15=30)

4. a) If ima, =aandlimb, =b, then prove that lim (a, +b,)=a+b

b) Discuss the nature of the sequence {x"} where x is positive real number.

c) Examine the convergence of the sequences :

3n?

) [n_ﬂ)_
n

i {1+(-—1)"n}
n+1

OR

5. a) Prove that a monotonic increasing sequence bounded above is
convergent.

b) Show that the sequence {a } where a,=1and a,=y2+a,, Vn22 is
convergent and converges to 2.

¢) Test the convergence of the sequence.

i) {n[log (n+1)-lognl}

i) {("”J (n+1)}

42
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_a) State and prove D’ .
6 Alembert's ratio test for the series of positive terms.
b) Test the convergence of & B&ilee
3.7.11....(4n -1

¢) Sum to infinity of the series
1 14 147 '

6 612 6.1218 "

OR

7. a) State and prove Cauchy’s root test for the convergence of series of

positive terms.

b) Discuss the convergence of the series.

1 2 3 4
—t—t—t— F
5 7 9 U

c¢) Find the sum to infinity of the series.

22 32 2
, e B R AL
2!

PART-D

Answer any oné question.

8. a) Examine the differentiability of the function.
f(x) = w2 —1forxz1 grx=1
1-xforx <1

b) State and prove Cauchy’s mean value theorem.

43
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¢) Evaluate :
_ 1
‘ i) Iim( )tanx
im ( tan SxJ
i) «z \ tanx - gt
OR - E s
9. a) Prove that a function which is continuous in closed interval takes every
value between its bounds atleast once.
b) State and prove Rolle’s theorem. J
c) Expand log (secx) upto the term contammg x4 using ‘Mac'a“ﬂﬁg"gems"
f 3 avEIZ ]
} < dek/
P Ev i
4 e ___.__. - :.,

a4
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Version Code  EXAMINATION, MARCH/APRIL 2022 = 2
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CULTURE, DIVERSITY AND SOCIETY 5

Time Allowed : 3 Hours Maximum Marks : 70

INSTRUCTIONS TO CANDIDATES
1. Immediately after the commencement of the Examination, you should check that this
Booklet does not have any unprinted or torn or missing pages or items, etc. If any
of the above defects is found, get it replaced by a Complete Question Booklet of the
available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and
affix Signature on the OMR sheet. As the answer sheets are designed to suit the
Optical Mark Reader (OMR) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 55 questions, Part — A contains 40 questions of one mark
each. Part — B contains 15 questions of two marks each. All questions must be
attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

8. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may

leave the examination hall.
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PART - A
Part — &
Note : Answer all the questions. Each question carries one mark. (1x40=40)
Haud : FRDENVR PUZOL. B3 T3 1 10w 08,
1. Which state has the highest sex ratio in India ?
a) Kerala b) Karnataka c) Delhi d) Haryana
o oot R) ©;03 B, OOTORITIITZ, BRo1T ?
a) $¢0¢ b) soFLi® c) BB d) BOOIRED
> Basadiis the worshipping place of
a) Buddhists b) Parsees c) Jains d) Sikhs
WIONTO O T3, x@s*amhd .
a) z:i'aC(Sa b) soafF c) &3 d) aaf

3. The expansion of TRP
a) Television Rating Point

c) Tension Relief Point
TRPoD 233 gRT

a) Hooa’ Seeson® OO0
¢) HarRs’ 00T papjeveleliy

b) Travel Rating Point
d) Transport Rating Point

b) &3,:e* Jerdorv TOOWOLS*
d) baga‘jyaew‘ e Setdont oo

concept of ‘Mc-Donaldization’.
b) M. N. Srinivas

d) George Ritzer

' BOBLROIRY QeRTHTO
b) 0. OFF. &R’
d) s Dot

4. gave the
a) Auguste Comte
c) Emile Durkheim
‘a7 -Brmd BeES’
aY
a) ©nx’, aazS%

c) 200 BDEFO
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5. The highest mountain peak in the World

a) Nanda Devi
c) Kanchana Junga

BN3T 8 IVT T3 DT
a) SomomeR
C) T0WT Lo

. COVID-19is a

a) Virus

c) aandb
COVID - 19 2.0%H
a) ox*

c) axd b

. Which is the national game of India ?

a) Kabaddi b) Cricket
ADlerIA] cvaaeow 3,688 o3RRI ?
a) WA b) 3%es*

. The holy book of Buddhism is

a) Bible b) Tripitaka
w’ac;a FROFT TS, 1,05
a) Ywo' b) & &3

a) G. S. Ghurye

c) Iravati Karve

‘B0 2508’ BOFOSOD), VBT
a) 23. %, POT,

C) QOB I

||||ﬂ|||\|lllll|“

b) Mount Everest
d) Gowri Shankara

b) &3P0t DWOR,
d) o 3080

b) Bacteria
d) None of the above

b) mdgdebodn
d) B0eOS CINWTR OY,

c) Hockey d) Football

c) T d) PEFwoesf

c¢) Quran d) Granth Sahib
¢) oo’ d) Rog mBew

. The ‘Dominant Caste’ concept was given by

b) M. N. Srinivas
d) D. P. Mukherji

b) 0. 3. 8, ee0x*
d) ®. &. I

SPACE FOR ROUGH WORK
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10. Article 24 of the Indian Constitution is related to

171

12.

13.

14.

b) Contract Labours

a) Migrant Labours
d) Bonded Labours

¢) Child Labours
5003 PoNTOSE 248 D3 R BooHATS.

a) SOT FAOFTD b) 20T FooF BT
C) PO TORVF T d) WORT FoWOFFTD

Who gave the concept of Tribal Panchasheela ?

a) Tilak b) Ambedkar c) Gandhiji d) Nehru
OTON Todde aﬁbsgécmagt O3R30 AEBTTD ?
a) 307 b) eouedo® c) mooHen d) Sxae

Western Ghats are also known as in Karnataka.

a) Mahendragiri b) Sahyadri c) Vanashri d) Himadri
Foor BBTQ, WA FLINTTY HOTO FBOI0TYT.

a) SOTeos,NO b) X, 0, Cc) W3¢ d) %=n0,
The Child Labour (Prohibition and Regulation) Act was passed in the year
a) 1992 b) 1955 c) 1975 d) 1986
200 TOFE (A TB) V008, £0) T03) 030 BRRETHOIIT SHE

a) 1992 b) 1955 c) 1975 d) 1986

Which National festival is celebrated at Rajpat Delhi ?
a) Gandhi Jayanti b) Independence Day

¢) Republic Day d) Teacher's Day
BBOOD DT BHFIE, 030 ToeoSd BT 523070323 ?
a) mod wood b) 203, OTNITH

c) mgm‘ cgﬂ;s d) bﬁjﬁ DIBTR

o

SPACE FOR ROUGH WORK
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15. The Thar desert is located in _State of India.
a) Punjab b) Rajasthan
¢) Guijarat d) Madhya Pradesh
FOOT WAL OIS _ oo TR
a) Jowme b) UB&:IJ:@‘
c) HERI d) S5z, dez
16. ___is an achieved status.
a) Gender b) Caste c) Class d) Religion
LoD OB BoITNT.
a) oont b) 3 c) [_INF d) I=F
17. ‘Monoculturalism’ is the practice of preserving

b) National Culture
d) Tribal Culture

3080, TF; 03T
b) cwaeob ﬁo:%é
- A
d) womse) HoRyé

a) Rural Culture
¢) Urban Culture
‘0% ToF, 3T’
a) me,=0 TR, @
c) Sno Xox,3

is called as the ‘Jainakashi’ of Karnataka.

18.
a) Moodabidari b) Dharmasthala
c) Chikkamagaluru d) Udupi
SR, BTFLET " TEd 20T FBODING.
a) RBELTC b) qsmr:éd
C) BEENTRm d) e
19. The Chairman of Drafting Committee of the Indian Constitution
a) Nehru b) Gandhiji c) Tilak d) Ambedkar
PROZ ZoLGRHT SUB AASCH BT ¥
a) szde b) moBez c) doF d) ©olero*

SPACE FOR ROUGH WORK
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20. In which Olympic game did Neeraj Chopra win gold medal 7?7

a) Swimming b) Badminton c) Football d) Javelin throw
Revzs* e, SRR tOoXE I cdnd 8 ednt 37 T TWEY CRTOLES ?
a) B b) w3, Qo c) LS d) e80T %

21. Sudha Murthy was conferred ‘Padmashri’ award for her service in which field ?

a) Sports b) Education c) Literature d) Social Work

DEO S ODTON CIRT 863,13 FOXT Fedron ‘T, ¢’ TBY BRTE ?

a) 3,¢8 b) 28¢o c) k3, d) 3w Bed
22 Mahatma Gandhiji called the tribals of India as

a) Kaadu Jana b) Hirijana c) Girijana d) Harijana

OTITY Mo0QE3CIT/TY LTATBTI WOTFLD, HZONNTTI), DOTI BTTITO.

a) B =3I b) &0%3 c) Ao d) o=

23. The name ‘India’ is derived from the river

a) Ganga b) Sindhu c) Kaveri
‘23903’ Q0L BITO SOOWOT WORT.
a) nome b) 2oxR C) Fo=ed d) WRR3,
24. World Environment Day
a) June 05 b) March 22 c) September 05 d) October 02
2, 20%T O
a) =R 05 b) =eests 22 c) ABowc® 05 d) @iReT’ 02

Name the women from Karnataka who was awarded ‘Padmashri’ for

Environmental Protection.

a) P. V. Sindhu
c) Salu Marada Timmakka

25.

b) Tara Anuradha
d) Jayanthi

d) Brahmaputra

ZORT Boug N ‘T8¢ THIA TR BoF LBT SOk 0IRTd ?
a) &. &, WP b) 00 BROTIF
C) Lo WU ST, d) =odod

SPACE FOR ROUGH WORK
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language group-
26. Kannad.a -Language belongs to _.,.,..,_-———B) Sino-Tibetian
a) Dravidian i |ndo-Eur0Pean
c) Aryan
-2 . #=3058 $e003.
5?:3 W:Qib O A o . %me—wﬁw@v
a) T,
c) v-ci'bs- d) ‘aome'wme&wg
: i a
27. is the original name of Buddh - d) Basava
a) Shankara b) Mahaveera c) Si
LOTT B BT d) RS
~)
a) 3080 b) RooRET c) ATRBE
28. Family is the agency of
a) Media b) Socialization  c) Urbanization  d) Industry
BOEDOWR) & Q030eN03PNG.
a) g, b) mos3Te3eBTEd c) SnoesTeD d) §noos
29. Islam religion propagates
a) Atheism b) Fetishism
c) Polytheism d) Monotheism
B0 PRFR) Q3] @, $TOROTTI.
a) DATDT b) %330

C) WRTCDS0WT d) QBN

Geographically India is the largest country in the world.

a) 2nd b) 7th c) 5t d) 4t
PRRegEmN PoU3y) kNS CR® ToRTONGS.
a) 23 b) 73e c) 53¢ d) 43¢

SPACE FOR ROUGH WORK
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31. The Namboodari joint family is called as

a) Tarawad b) Khasi c) Gharo d) WWom

SotRT0 LOYE BRLOWST) 200 803TONTS.

a) 3T b) anx c) mdne d) o
32. ______ Article of the Indian Constitution abolishes the practice of untouchability.

a) 17" b) 24th c) 15" d) 32

(03 FODEOIT DQ0I0 8 B, 30 3CHodR), HEORIT.

a) 173¢ b) 243e c) 1533¢ d) 323¢
33. The Untouchability Offence Act was passed in the year

a) 1955 b) 1976 c) 1985 d) 1947

o3 o5 €TTOG FOOT DAINT JAF

a) 1955 b) 1976 c) 1985 d) 1947
34. Globalization has reduced the barriers between

a) States b) Districts c) Countries d) Cities

NS0 IR LRBBRIR), FRR INRIT.

a) oauﬁm' b) z2gne c) oo d) Incne
35. The oldest Veda is

a) Yajurveda b) Rigveda

c) Atharvanaveda d) Samaveda

53,02 7,363 BT

a) obzoder T b) odbriecs

¢) egsrrdd d) I

SPACE FOR ROUGH WORK
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36. The ‘Fourth Pillar’ of Democracy is
a) Executive b) Mass Media ¢ Judiciary d) Legislative
o0, 0IT 'y uEdo got'
a) wadnFon b) Xn® ING,I  €) &, 0IR0N d) ZoREeoT
37. How many languages are officially recognised in the gth Schedule of the Indian
Constitution ?
a) 15 b) 18 c) 22 d) 12
LROE ToLgE 8 ngmaqwme%smwm SRBSNS ?
a) 15 b) 18 g) 22 d) 12
38. The word ‘Family’ is derived from the Latin word
a) Famulus b) Femila c) Feminine d) Femili
‘To,00" 20w TEY T, LT* TN TEO0T WoT.
a) =0, v’ b) P c) PG d) P
39. The place that receives the highest rainfall in India
a) Agumbe b) Darjeeling c) Udupi d) Mawsynram
PROBTY, 658 Bk Tov WesbT TY
a) oo b) mwrFdont Cc) B d) SPaIF T
40. The eldest male member of the Hindu Joint Family is called as
a) Hiriya b) Kartha ¢) Jeshta d) Anuja
LooTin oy BorowT d»a%ﬂ@dag‘ Q0T gdohennd.
3,“ LoD b) ¥=oF c) dexy d) e

SPACE FOR ROUGH WORK
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41. Kasaragodu border dispute is between and States.
a) Maharashtra, Karnataka b) Kerala, Karnataka
c) Tamil Nadu, Karnataka d) Telangana, Karnataka
FORTRRCRE Ne DT R oaz:szsﬂ@ﬁ TOLORATI.
| a) mmoaai, TIOF 38 b) 3eT%, sooreds
C) BT, FooF3s d) Swomoed, FIoF LT

42.

43.

Which Article of the Indian Constitution provides provision for the development

of North Karnataka ?

a) 371 (J) b) 24 c) 280 d) 32
IR0 TWONGOIT O3NT wmi 0TI LVBT FHOF LT esa;:md&@ﬁ NPT AR 2
a) 371 (%) b) 24 c) 280 d) 32

The ‘Karnataka Ratna’ 2021 awarder who passed away recently
b) Punith Rajkumar

d) Sanchari Vijay
BBAR LRITITRO

a) Chiranjeevi Sarja
c) Senior Actor Shivaram

wdeudn AFIoeE Tone 2021 3¢ O BI0F T O
b) RN T BOB/RT®

a) 280023ee) RWF
c) &dod I3 HITO0 d) Rowsed DX’

f T
SPACE FOR ROUGH WORK
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44. Summer season in India is between stionths.
a) December to February b) March 10 May
c) June to September d) October to November
0033 teart ooy soricons SEos JOWTZE:
a) 830wo*RoT Fw,=[oO b) seestFR0T B¢
C) wRF*ROT FFoe0* d) @g%ewocgaod S5020°

45. Book, Magazines, Newspapers are the examples of _————— med'la.
a) Print b) Electronic ¢) Outdoor d) Social
DT, oDITAEND, 3B, FrTd 0GR, OO TEB03INES.
a) B3 b) QM C) RRTROMED d) mo=ResE

47.

The two Backward Classes Commission of India
a) Kalelkar Commission and Mandal Commission

b) Mandal Commission and Havanoor Commission
c) Nagana Gowda Commission and Chinnappa Reddy Commission

d) Nanjundaswamy Commission and Kalelkar Commission
27003T TR &0TOPT WNF Y e303eNMNED

a) BJeT esadnent K 0B sadnen

b) @0oBeF esodnen TR TIWIRTO esodnen

) SRS es03een &R 25?@)6% es03en

d) S0z0BR0 esodnen @03 FoSeD’ sodeen

is the present Chairperson of Karnataka Commission for women.
b) Smriti Irani

a) Rekha Sharma
d) Shyamala

c¢) Pramila Naidu
BoOF 838 ep Bo&wn 036Nt HNT OF,TTO
a) Beaso IXOF

C) &,0ee Tood)

b) § ,& BN
d) aasaooa

SPACE FOR ROUGH WORK
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48. Match the following -
A .

49.

1. Buddhism

2. Sikkism

3. Jainism

4. Islam

Codes :

a) 1-A

b) 1-C

c) 1-B

d 1-C

mwc&}b;
A

1. PG g0

2. A SoF

3. ¥ FDF

4. WO TOF

Tode3nich :

a) 1-A 2-C

b) 1-C 2-B

c) 1-B 2-C

d 1-C 2-D

Ethnocentrism may lead to

a) Xenophobia

|
|
I

MR MPON
Il
COmO
Wwww
N
@>»O00
Aaaa
I
>0>»®

——

Www
>»00

I U

>0>®@

3 -

s bh bbb

ocom>

b) Hydrophobia

B
Prophet Mohammad

Mahaveera
Gautama Buddha
Guru Nanak

T,00 eI
TR
N%anw%
rOHOTTT

OO w»

c) Euphobia
R 300 N8RBT,

aqiqt X0k, B (Bo08e0d,3m00)
a) uﬁdmwca .b) mo ped

50. The two sects of Islam

a) Hinayana and Mahayana

c) Swethambara and Digambara

TRY GRFT OB VOGP
8) totHoind %) FOTIRT
o) emaor0 ¥ Oriows

c) 2y Joded ped d) 3 Ped

b) Shia and Sunni
d) Catholics and Protestant

b) dadm Tk X0

d) n‘qlmov ) Jp, 133 on

FOR ROUGH WORK
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51. The two dominant castes of
a) Vokkaliga and Lingayal
¢) Reddy and Kamma
RS O e
a) . s_:‘r\ X Somoans
c) da Jox; fay

Match the 'olk)Mng :
A

1. Kailash Satyarthi

2. Tulasi Gowda

Kmmnnkn are

. N Tathh

14

Lingayat
rahmin and
d) Sokkaliga and Brahmin

b) tR,EF =% orwosE
d) w891 o) 1o, H

B -
A. Indian Environmentallst

B. Female Education

3. Malala Yousaf C. Folk Dance
4. Manjamma Jogati D. Child Labour
Codes :
a) 1-D 2-C 3-A 4-B
b) 1-A 2-B 3-C 4-D
c) 1-C 2-D 3-A 4-B
d 1-D 2-A 3-B 4-C
2o0odA IcD :
A B
1. §2F 33, 0F A. 7030l TOXTZO
2. 2wz B. a)aovaagp
3. U CLRIP* C. 3z ;;Jsi
4. o ‘z!mrsa D. R BOFED
Xo#enel :
a) 1-D 2-C 3-A 4-B
b) 1-A 2-B 3-C 4-D
c) 1-C 2-D 3-A 4-B
d 1-D 2-A 3-B 4-C
53. ‘Soliga’ Tribes are found in State.
a) Tamil Nadu b) Kerala ¢) Karnataka d) Oni
‘)z@gz%mm oot B, Soroucomyd,
a) % b) decy ¢) ¥
) dmorid d) wom

SPACE FOR ROUGH WORK
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g4. Match the following -

15. QP i 539

A

i 7 Bharatanatyam B

2. Yakshagana A. Punjab

3. Odissi B. Orissa

4. Bhangra C. Tamil Nadu

Codes : D. Karnataka

a) 1-A 2-B 3.¢c 4_-p

b) 1= E 2- D

g 18 2.1 3-A 4-B

-0 3-B 4-A
d 1-B 2-A 3-D a-C
BRODY W3O :
& B

I 155350&50 A. S0t

2 R o B. 2.0

3. wWRA -

4. ory D. smoFus

Tode3ned :

a) 1-A 2-B 3-C 4- D

p) 1-C 2-D 3-A 4-B

c) 1-C 2-D 3-B 4-A

d 1-B 2-A 3-D 4-C

55. Radcliff line demarcates and .

a) India and China b) India and Sri Lanka

¢) India and Pakistan d) India and Nepal

Uaﬁa‘g‘z;:‘ nedeadodd EASLY) nYs, APRRIT.
i a) oZ B 1%;33 b) U3 RO, 30008
() 4osE RF) RS d) 08 T3 FeTY
. . ——
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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that this
Booklet does not have any unprinted or torn or missing pages or items, etc. If any

of the above defects is found, get it replaced by a Complete Question Booklet of the
available series.

2. Write clearly the Question Booklet Version Code A, B, C,D or E inthe appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and
affix Signature on the OMR sheet. As the answer sheets are designed to suit the
Optical Mark Reader (OMR) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 55 questions, Part — A contains 40 questions of one mark
each. Part — B contains 15 questions of two marks each. All questions must be
attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.
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Note : Answer all the questions. Each question carries one mark. (1x40=40)
RAus : W T INYRD, LuZoR. B8 T I 1 wowd wos.

1. Which State has the highest sex ratio in India ?

a) Kerala b) Karnataka c) Delhi d) Haryana

O30s3 %) 03 émw@ommméaiﬁi BROOT ?

a) $eo¥ b) smori® c) 32O d) BocsRe
2. Basadi is the worshipping place of

a) Buddhists b) Parsees c) Jains d) Sikhs

WIONO 3 B, FFTNT.

a) ?jac:jg b) ToafF c) &3 d) e
3. The expansion of TRP

a) Television Rating Point b) Travel Rating Point

c) Tension Relief Point d) Transport Rating Point

TRPo 07,3 8RS

a) HBOOTF® Betdon® T b) 39,8 Seeson® ToOWOE*

c) HBa'®Ra’ 0Deg® WO’ d) 3,3 FpetsE Bet3ont Too0SF
4. gave the concept of ‘Mc-Donaldization’.

a) Auguste Comte b) M. N. Srinivas

c¢) Emile Durkheim d) George Ritzer

‘amds‘-dmmc; SRR TWOBOFODTY VeBTIL

a) ©nxt ), b) 0. aF°. &R’

c) 20O BDEFO d) e Oyo

SPACE FOR ROUGH WORK
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5.

The highest mountain peak in the World

a) Nanda Devi

¢) Kanchana Junga

BN ©8 IV TIF3 3T
a) SomaTie

C) T023T TWOOMW

COVID-19is a
a) Virus

c) aandb
COVID - 19 wo0h
a) 0%

c) a3 b

. Which is the national game of India ?

a) Kabaddi b) Cricket
PoUST ToRyead $,ea C3RYTO ?
a) swd b) 3 8e°

. The holy book of Buddhism is

a) Bible b) Tripitaka
?39:% FRFT TR, 1,05
CYIRARALY b) §&eE

b) Mount Everest
d) Gowri Shankara

b) RP0LF DTS,
d) o 083

b) Bacteria
d) None of the above

b) mérgdebczm
d) S0eOT RHTWR Q)

c) Hockey d) Football
c) &3 d) P
¢) Quran d) Granth Sahib
C) Ao d) nog s

The ‘Dominant Caste’ concept was given by

a) G. S. Ghurye

c) Iravati Karve

‘Twe 238 TOFOSODIY, VERTIW
a) 23. O%°. POT,

C) QUYBS BSF

b) M. N. Srinivas
d) D. P. Mukherj

b) 20. &5, & edavome
d) &. &. RoDer

SPACE FOR ROUGH WORK
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10. Article 24 of the Indian Constitution is related to

a) Migrant Labours b) Contract Labours
c¢) Child Labours d) Bonded Labours
¢JOT3 TODTOVT 24 e LPon 1} BowoHAT.

a) ST FWFBTD b) 233073 ToFBTO

C) PO FTRWFTI d) 20003 FoWOFBTTO

11. Who gave the concept of Tribal Panchasheela ?

a) Tilak b) Ambedkar c) Gandhiji d) Nehru

S0TA TOWSeL TOTOSOITY 03RO VBT ?

a) 3oF b) esowe’do? C) ToQe d) S=3»
12. Western Ghats are also known as in Karnataka.

a) Mahendragiri b) Sahyadri c¢) Vanashri d) Himadri

FTF BT TEFO PUNIR 0T FB00ZTT.

a) So3eond,NO b) 3,0, c) =3¢ d) %IR8,
13. The Child Labour (Prohibition and Regulation) Act was passed in the year

a) 1992 b) 1955 c) 1975 d) 1986

1O FWFT (JdAEeG R Q03003,£9) F03030 930RReTI0INT IR

a) 1992 b) 1955 c) 1975 d) 1986
14. Which National festival is celebrated at Rajpat Delhi ?

a) Gandhi Jayanti b) Independence Day

c) Republic Day d) Teacher's Day

B33 oo DGR, 03NS oaa&eodo mgpaigt 223070320 ?

a) ™od %0d0d b) m}og . OFICE

c) ﬁmm‘@‘a d) bggd [apikiely ]

SPACE FOR ROUGH WORK
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| | state of India.
15. T)hc:) Th.arbdeser‘t is locatedin __——— b) Rajasthan
a) Punja desh
adhya Pra
¢) Guijarat d) M /
TO° TR LTSS 002, BQE-
a) Fow* b) oazsm@a‘
C) MORTS® d) mqj%deeﬁ
16. is an achieved status. e i
d) Religion
a) Gender b) Caste c) Class ) Relig
20T OB 0BT,
a) oon b) e c) IntF d) g
17. ‘Monoculturalism’ is the practice of preserving
a) Rural Culture b) National Culture
c) Urban Culture d) Tribal Culture
‘DT A‘oxﬂémd'@ easdﬁom@t dim§63.
a) M, Nox, 3 b) Tadyeadd xo:s@a
C) Sno R0y d) LTS, :)‘o:o‘t)é
18. is called as the ‘Jainakashi’ of Karnataka.
a) Moodabidari b) Dharmasthala
c) Chikkamagaluru d) Udupi
VR, BIOF LTS ‘o 395" 208 B3R,
a) DRBUTT b) z;sms-;:);e;
c) zsﬁbmﬁwada d) ey
19. T;]T\, C:airman of Draﬂti)r)lgGCommittee of the Indian Constitution
a) Nehru andhiji i
‘ % Tl d) Ambedkar
JOUZ TONTONT FTR F0E0D Eﬂqﬂﬂid)
a) 3xzdn b) modez ) &
R d) sowego*
SPACE FOR ROUGH WORK
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20. In which Olympic game did Neera] Chopra win gold medal 7
a) Swimming b) Badminton c) Football d) Javelin throw
Qo0 e, BS0N L0 S o 8, cdrt W 0 WO CRTou® 9
a) S0 b) w» Qo C) Prreoes d) ®mSo %2
21. Sudha Murthy was conferred ‘Padmashri’ award for her service in which field ?
a) Sports b) Education c) Literature d) Social Work
DT RdrodEonR odns i ¢3, 3¢ BOAT Headron ‘@b, ¢’ T B sRvs 7
a) 4 b) 88¢s c) Mk, d) X Besd
22. Mahatma Gandhiji called the tribals of India as
a) Kaadu Jana b) Hirijana c) Girijana d) Harijana
SOTITY M0RE0IITO ¢ITIT LOTFLD, BIOMNTT), QOTD FETA.
a) R ®I b) %O%s c) RO d) Tons
23. The name ‘India’ is derived from the river
a) Ganga b) Sindhu c) Kaveri d) Brahmaputra
‘P03’ 20w JIT JOOWOT WORT.
a) norm b) vogn c) Foa3ed d) wFIT,
24. World Environment Day
a) June 05 b) March 22 c) September 05 d) October 02
2B TWOXT OF
a) wez* 05 b) It 22 c) A&owo* 05 d) ednewc® 02
25. Name the women from Karnataka who was awarded ‘Padmashri’ for
Environmental Protection.
a) P. V. Sindhu b) Tara Anuradha
c) Salu Marada Timmakka d) Jayanthi
TORT Hoog N 'T,Td, ¢ T TET FTF LI ok odedd ?
a) &. 0. PR b) 300 YT
C) Towd TOT 38 d) wodod
SPACE FOR ROUGH WORK
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26. Kannada Language belongs to language group.
a) Dravidian b) Sino-Tibetian
c) Aryan d) Indo-European
sFF Y o XR0exd Be0d.
8 o b) % me- 133t
C) eadF d) @odee-cdudresodda
7 is the original name of Buddha.
a) Shankara b) Mahaveera c) Siddhartha d) Basava
:-‘ana R BID
a) Zoss b) SdoDeT C) AFF d) wxss
28. Family is the agency of
a) Media b) Socialization c) Urbanization  d) Industry
BLO0LY) G dodeencinng.
a) TRg,=O b) mo=Re3esces C) SrOesTeD d) §rood
29. Islam religion propagates
a) Atheism b) Fetishism
c) Polytheism d) Monotheism
TR TR B, TAODIT.
a) AT b) T830
C) wEBSTTT d) JEdesmad
30. Geographically India is the largest country in the world.
a) 2™ b) 7" c) % d) 4t
PRecosN oS wids ded I,
a) 23 b) 7de c) 53¢ d) 43¢
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31. The Namboodari joint family is called as
a) Tarawad b) Khasi c) Gharo d) lom
JOWATO LY BRDOWIRY _ womb §8odend,

a) 3o b) s c) mde d) @&

32. _____Article of the Indian Constitution abolishes the practice of untouchability.
a) 17" b) 24t c) 15 d) 321
O3 BODFOIT QoI 5% B 3o edBroddR, FeHRIT.

a) 173¢ b) 243¢ c) 15:3¢ d) 32:3e

33. The Untouchability Offence Act was passed in the year
a) 1955 b) 1976 c) 1985 d) 1947
v:o: 25,30 BTOOG FOT WOOINT JHF
a) 1955 b) 1976 c) 1985 d) 1947

34. Globalization has reduced the barriers between

a) States b) Districts c¢) Countries d) Cities

IR3ETTRDY) SRNT VBEBRI), 8RR SREIT.

a) oausm b) =gn¢ C) Uaayw d) ayém
i 35. The oldest Veda is //
| a) Yajurveda b) Rigveda

c) Atharvanaveda d) Samaveda

3,03 T, 3¢ Hed

a) obzoderd b) abried

C) eE=rrased d) maFed
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36.

37.

38.

40.

The ‘Fourth Pillar’ of Democracy is
a) Executive b) Mass Media c) Judiciary d) Legislative

%, 230, OB ‘moﬁe SiapieRleint

a) oodnron b) RAoe® BRGE  €) T3,0dRON d) Zoxsoon

How many languages are officially recognised in the gth Schedule of the Indian

Constitution ?

a) 15 b) 18 c) 22 d) 12
2I008 BOTIIT 8¢ a'"o&%eddef;,, T, PORNTY SIAL ROTH TR TRBINT ?
a) 15 b) 18 c) 22 d) 12
The word ‘Family’ is derived from the Latin word
a) Famulus b) Femila c¢) Feminine d) Femili
TR0’ 0w BT U, (ADTlevb) TROOT WORT.
a) 3,0, 0= b) Foew C) PWFI d) P
. The place that receives the highest rainfall in India
a) Agumbe b) Darjeeling C) Udljpi d) Mawsynram
POVBEA, 98 Bey, T¥ Ve Y
a) enod - b) wmowdrdon' C) RO d) SR TR
The eldest male member of the Hindu Joint Family is called as
a) Hiriya b) Kartha ¢) Jeshta d) Anuja
20T L0738 BoLOOWT BVDIIT) ROT FTODSRNT.
a) &doH b) 3ZoF c) wesy d) =%
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Note : Answer all the questions. Each question carries two marks. (2x15=30)
2eus | SR IV wogon. 13 I3 S0 esoBrivh.
41. Kasaragodu border dispute is between and States.
a) Maharashtra, Karnataka b) Kerala, Karnataka
c) Tamil Nadu, Karnataka d) Telangana, Karnataka
FIORRR NA DT =3 o3, 9T BOLORAT.
a) mmmﬁd TooF LT b) 3e0¢, sToFL3T
C) ST, FTorL3s d) 3womoe, FToF LB

42. Which Article of the Indian Constitution provides provision for the development
of North Karnataka ?

a) 371 (J) b) 24 c) 280 d) 32
%02 BoNTOIT 03T woziecsaé; VT FIOF LTT SV O AR NeRT 2
a) 371 (%) b) 24 c) 280 d) 32

43. The ‘Karnataka Ratna’ 2021 awarder who passed away recently

a) Chiranjeevi Sarja b) Punith Rajkumar

c) Senior Actor Shivaram d) Sanchari Vijay
0213¢ WO 'Taortss UZ TIAN (puITEID

b) PHAeZ* Tow BITRT’
d) Xowd o’

2308 APS0T ToNe 2
a) 23goeded) NTF
c) Lbody Fs dSITU0
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44. Summer season in India is between months.

a) December to February b) March to May

c) June to September d) October to November
PROITY, tIeant ooy o Sonsonty F@oS FoROWTITT.
a) A3oworA0T Pro,=o b) Smesfrlon aoe

€) BATRT FPZorot d) e8neo*RoT SBowT*

45. Book, Magazines, Newspapers are the examples of media.
a) Print b) Electronic c) Outdoor d) Social
JIT, DoDIFOED, 3,333, 3¢ BRG,08 VDTN
a) g b) 2,3 c) BrooonE d) mo=neE

The two Backward Classes Commission of India

a) Kalelkar Commission and Mandal Commission

b) Mandal Commission and Havanoor Commission

c) Nagana Gowda Commission and Chinnappa Reddy Commission
d) Nanjundaswamy Commission and Kalelkar Commission

LPRUSBT TR HoTOT INF NS e303nenned

a) aadeq‘o‘ sodnen & SoBSF sodeen

b) SoBe* sodeen T TSI Bodeen

C) SoNIMPE esodnent SO I TBR sadeen

d) Soeo@ERL eodeer SH) BSeT* Lodnen

47. is the present Chairperson of Karnataka Commission for women.
a) Rekha Sharma b) Smriti Irani
¢) Pramila Naidu d) Shyamala
BToF 3% 025, &0l S03RENT SN ec;did)
a) Seam BXOF b) { 93 AOR
C) &a0eem oo, d) Z&oe
SPACE FOR ROUGH WORK
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48. Match the following .
A .

1. Buddhism B
2. Sikkism A. Prophet Mohammad
3. Jainism B. Mahaveera
4. Islam C. Gautama Buddha
Codes : D. Guru Nanak
g) 1 . A 2-C 3-p 4_p

) 1-C 2-B 3-p 4-a
C) 1 — B 2 - C 3 _ A 4_ D
d) 1-C 2-D 3-B 4-A
BRODA W30 :

A B
L A. B0 ReBHG
2. A DIF B. Svxmo0ed
3. ¥3 gF C. M3 w3
4. WO FIF D. ROTOmORE
Xode3nsh
a) 1-A 2-C 3-D 4-B
b) 1-C 2-B 3-D 4-A
c) 1-B 2-C 3-A 4-D
d 1-C 2-D 3- 4-A
Ethnocentrism may lead to
a) Xenophobia b) Hydrophobia c) Euphobia
R 500 INRBARIT.

azﬁ@;ﬂo&_@k‘m‘ (Bo08e00,3700)
a) aﬁd I3R® e . b) wO Red

50. The two sects of Islam

a) Hinayana and Mahayana
c) Swethambara and Digambara

QRO FROFT QTR ToPNL
a) &eSoINE TR S eDlen e
c) 3ezo0wT 3 drowd

c) 3oy ZoBeS Ped d) WS Ped

b) Shia and Sunni
d) Catholics and Protestant

b) B 83 RO
d) T,BRtdF B o oL
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51. The two dominant castes of Karnataka are )

52.

a) Vokkaliga and Lingayat
c) Reddy and Kamma

STOFLIBT DO T,L0 IR
a) mpﬁ ALY Horood3

c) daa ROJ) FRR

Match the following :
A

LT

14-

and Lingayat

hmin _
= a and Brahmin

d) vokkalig

d) zjé@ﬁ oY) W, R

B -
Indian Environmentallst

1. Kailash Satyarthi A. '
2. Tulasi Gowda B. Female Education
3. Malala Yousaf C. Folk Dance
4. Manjamma Jogati D. Child Labour
Codes :
a) 1-D 2-C 3-A 4-B
b) 1-A 2-B 3-C 4-D
c) 1-C 2-D 3-A 4-B
d 1-D 2-A 3-B 4-C
BRODY W3O :
A B
; taoaa‘ :3:5::5&)9' A. o080 WORTTD
2. % MPB B. &% 3809
3. Do RIF C. 333 3:3
4. ow) Heend D. o b'a&brdida
Tode3risd :
a) 1-D 2-C 3-A 4-B
b) 1-A 2-B 3-C 4-D
¢ 1-C 2-D 3-A 4-B
d 1-D 2-A 3-B 4-C
‘Soliga’ Tribes are found in State.
a) Tamil Nadu b) Kerala c) K
‘ARt LB K0T ) ; fataka d) Orissa
a) BN b) Beoy 50 Yorbrdheys,
C) ¥orug 3
d) WO,
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54. Match the following - QP - 539

A

1. Bharatanatyam B'
2. Yakshagana g PU'nJab
3. Odissi C. ?::jlaNadu
4. Bhangra D. Karnataka
Codes :
a) 1-A 2-B 3-C 4-p
b) 1-C 2-D 3-A 4-B
c) 1-C 2-D 3-B 4-A
d 1-B 2-A 3-D 4-C
TBRODA W3O :
A B
1. zﬁdéméﬁgo A. Tow3e*
2. 0TS B. 0%,
3. Wi C. 30070
4. won, D. 85oF 3T
ToFeSnsh :
a) 1=& 2B 8>C 4-D
b) 1-C 2-D 3-A 4-B
¢) 1=C 2-D 3-B 4-A
g =B Bk 00 490
55. Radcliff line demarcates and

b) India and Sri Lanka

d) India and Nepal

nesy, PRROST.
b) %008 R0 §,e0%0

d) 08 FB) Jewos

a) India and China
c) India and Pakistan
09, @ §5° N@sessodn =02
a) 203 =) %0
C) RT3 W) TS
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